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1. #F5#%A summary(FS)E A5 4438 TIERART | #9 L& RAHMI > FHRIU TR
AR ARG HRARET ?
(A) P34 (B) A& 2 (C) ¥ (D) % — w9 H/a (B) B
2. AF 1A & THRAT ) ERAARGEFRFHEL - HAALEER
t.test(FS, mu=3, alternative="greater") 51845 417 2|3 % H#2HM T R& = (X +(MMAH &%
PRAFELHE  FEHLARAEE ATHBRITE) o AT R R —RIEHE 7
(A) EEBEHHILMBAZEZ >3 -
B) (F)EHEFAHEME -
C)(T)iEAETF A 464 -
(D) 2.2¢-16 Bp %2.2716 ¢
(B) 8- £33 95%9 4% F AN 4.5731 -
(B Lk%x FEET—R]
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One Sample t-test
data: FS

t=(¥), df=(&), p-value<2.2e-16
alternative hypothesis: true mean is greater than 3
95 percent confidence interval:

4.5731 Inf
sample estimates:
mean of x

7

3. A% 1AM > BEEER fable(FS) B4 FERE  HEMA=Z - & TIHFXRT, AR
EABSHFRIEEL p HEERAEEMN Hoip=07 3R H :p# 07 £ A
4~ prop.test(342,466,0.7 alternative="two.sided",correct = F) 15 2|4k %& » HF 4 MKW AT AL
b KA —IAEHE ? (3 ZABFPHODABARBEAF SLEHE EHEF AT AT
F Wi Rt E)

(A) b EEE R Z 5 BETHRE  RERERT EXIEWHREANE PHBRE M1 > 53]
1.62 -

(B) (R)EHEFAH] -

O (TERUFEBBEANEPHIEE =0 4550734 -

(D) bt TR B THEBEBBR, -

(B) o BAEEB N H 55 &AH :p=07> Hi p<0.7 > 7Bt £ Z p-value &

0.8898 -
A= ANFIA

FS 1 2 3 4 3
@) () () () 342

(m ANFE IR

1-sample proportions test without continuity correction

data: 342 out of 466, null probability 0.7
X-squared =2.551, df=(#&), p-value=0.1102
alternative hypothesis: true p is not equal to 0.7
95 percent confidence interval:

€49 (77
sample estimates:
p
(T)

[RBA% > FHET—R]
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4, MIRFBRTHERBAALAESR THRAT, AEN RGP ELBXAFTHEHERR  HF 4
LA TIERAT ) HELSHE TN 04 A% # male FS - female FS - A 454
var.test(male FS, female FS, alternative="two.sided") #F 2|3k % » 34 ML L (A P(ONAHEX
¥eP RAFELEEE  HESEARIEATHE R E) o AT ARk R — A 7
(A) () EAH T B 0.9394 - |
(B) BA#AA 235 A kA AH 229
C) BAMRAGEH L AMAE RS -

D) i R RL TBARL AR THRAT, AEHBRY EHAFBMERR, -
(E) 554547 % var.test(female FS, male FS, alternative="two.sided") » 7} EF male FS $1
female FS £454 P UBAFRF > FRHREBFTAF  MTLERLTRE -

kA ANE 4R

F test to compare two variances

data: male FS and female IS

F=(X), numdf=235 denomdf=229, p-value=(??)
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:

0.7256  1.2156

sample estimates:

ratio of variances
0.9394

5. AF A AEZRTHREASLAER THRXAT , BENBRPFHARITABZARE
RIS ttest ) ZREBHBIESNE
% — #8454 ttest(male FS, female FS, alternative="two.sided", mu=0, paired=F, var.equal=F)
¥ #8454 | ttest(male FS, female FS, alternative="two.sided", mu=0, paired=F, var.equal=T)
BRI RAERE  HEMTRAN &Rt (A PODRBEAETRAA SLHE LA
RBEATHEBRFE) » AP EANHENE—MEELS > RCHERE 445 - ATHHE
TR KA —BIEE? (BRFLT—R)

[RAAR > FRET—R]
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(A) ZA(T)EHBEF A 464 -
B) A t(R)EHBTARALEH -
(C) BAKARPFHHAN L ERFPHE -
(D) RIEH 4R BHER B —fd5 4 ~ (A R NBATHAT -

AN CHENESHANE—HES

E) st C&ERE TS A AL AR TIRAFRT ) ARGFRPHBEABEARR, -

Welch Two Sample t-test

data: male FS and female FS

t=0.96793, df=(d.), p-value=0.3336

alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval: '

-0.06734  0.19807

sample estimates:

mean of x mean of y

(??) ??7)

b HENE SHOE S

Two Sample t-test

data: male FS and female FS

t=0.96832, df=(J), p-value=0.3334

alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:

-0.06729  0.19802

sample estimates:

mean of X mean of y

) (?7)
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6. HRFELTHRARANKFROPLEEA "HERRT, LRARET B R FR(grade) 7 B
A= R REZ~AwdwE - FABTHELSFERE  FLHMEAAN (XFPODRERSL
PRARELERE LSS AR E ATAB R E) o AT SRS — R EE 7
(A (F)E##Th4-

(B) (2)ig#s 5 2% 0.85 o

(C) (B)iEAs L+ A 461 -

(D) sb B H 4 H — Bk Hv —sBEaAt SwEsaBEaeR THERART | 2HF
FHREEH K-

E) so R &R A TwEERMNELER TERRT | AER TSR, -

AN RARE 6

Df Sum Sq Mean Sq F value Pr(>F)
grade () 2.55 (F) (??) 0.187
Residuals (%) 244.22 (?7)

(A4 - &458 7-8 ]

BERE R EER AT Y =By + Pixi + PoXpp + Baxis t Paxia t& 0 KT e H|ER

P RTE ERA Y EEGEE A B H(THRASS I EH - BRK 0 F

AEBEH) A EREE X8 i EHAREHE A K AAxz=1 RXAX3 =0

Xig = XinXip * BXp Hxp ZABFIR - A RAKE 300 EHATH  BEFAIENY v X

X3 Z B EME -

7. HEEER REBTHAGES ML FEHRE  FOREZLMTREAL (EFODREEL
MoP RAA B FASEAREE ATHETRITE) o ST SR ok R A — IR E AR 7
(ERAHFRLT—R)

[HAAR  FREAT—R]
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(A) (F)E A F AN 0.01 £ 0.05 2R -

(B) ()4 $LF % 296 -

(C) 4W; = 10Y; » AWk Ay 3 FrA o) A SRR E > APTA BT R A EL
HEHFZ 104

(D) 4W; = 10Y; » AW fr AR e B8 3 > A eh & BBRE » RIAA tvalue B &AL
HEHFZ 104 -

(B) R $LAY, » AW, = 100, » AW RRx » 8 B BHRE - 8l Lt b st A &AL
HEHFZ 1045

AN ARG THRY 8 A

Coefficients:

Estimate Std. Error t value Pr(>[t])
(Intercept) 28.6145 1.6412 17.436 <2e-16 ***
By 1.8548 0.4137 4.484 1.05e-05 ***
B 1.4888 0.3885 3.832 0.000155 ***
B : -4.0970 2.1915 -1.869 0.062551 .
i -0.2242 0.1062 -2.110 (+) *

Stenifl codes; ( 210,007 #0001 ** 0.05 5.2 0.1 %7 1

Residual standard error: 17.94 on (?7?) degrees of freedom

Multiple R-squared: 0.1046, Adjusted R-squared: 0.09249
F-statistic: 8.618 on 4 and (#) DF,  p-value: 1.368¢-06

8, ARFTHHEEN MUY BHBER » By > Xy > X3 > X, 8 B ¥ 3 T4 ARk LA —I8 E
B ?
A)#EH :f=1"H B+l EAZERTHE @ FELHL:F,=1-
(B) h B3 2 A5 +11E -4.0970 TT4n : AL TS EIATRT » TAKHEHART  BEBEY-
(C) Tx s n Y BERE | B & -
(D) Adjusted R-squared /]\#4 0.1 » &% : FFRH R 0 @FBARS# SRR RS A KM -
(BE) A LB F # Tpvalue: 1368e-06; 24t ERZ  ERAUEBEEZFL ~B Bz B
AEHE -
[RAEAAR  FRAT—R]
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[fm > G462 9-14M] X R Y ARHMEEHEMSE > BOREFERSLT

fxy(x’y):{c-e“zy if 0<x<y
' 0 0.w.
9. CHERUTFME  FRE Ay NARTERZHEREERLJH?

(A) 1 (B) 2 ©) 3 (D) 4 (E) 5
10. BAFEEXY) R U T A7 ?

(A)0.2 (B) 0.25 (€)0.5 ©075  (B)1
11. EBHEPY > 2) A TFME 7

(A) 2e~2 (B) 3¢~2 (C) 3e~* (D) 4e~* (E) 5e™*
12. i EIAEEE(Y|X = DR TFATH 7

(A) 1.5 (B) 2 (C) 2.5 (D) 2.75 (E) 3

13. 2 UbE#%e  AREFRAMT

-, ¥ 05
UTFiTE BB X ZHrREe—8?
(A) —In(1 = V) ®)-In(=2) (C) =0.5In(1 — U) (D) =21In(1 - U)
() % b %3k
14, 48~ S, ~S3~ Sy~ SsA— MR SR sREXNZ pERTE B
%T=Mw@ﬁp%&jg,mTﬁ%%Tz%iﬁ?
(A) 0.05 (B) 0.1 (C) 0.2 (D) 0.5 (B) 1

[BHEEL2FLE R ATEHELMRXA]
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1. #3/{ay}F @ Coma;, =1 an+1 >a,’ Ba2,,+a2+1=2(n1Xa, +ag4 +a,) ’ S+
#30% @ n R e afo > K lim 2 :

2. )Tifo fy emax{x“.y%} qy dy = » max{x?, y?} X &kx2Fuy’ & 2 R AME -

3.  The total production P of a certain product depends on the amount L of labor used and the amount K
of capital investment. When P = cL*K*~%, the maximum production occurs at mL = ap and
nkK= if mL + nK = p.

4. Kf(xy) = 5x%+ 4dxy + 2y fix2 +y? < 1L2_*E,¥JIJE‘EK{E9FU%E/J BREMBEZR °

5. In economies, the evaluations of marginal effect and elasticity are commonly applied. Suppose that
a variable of y depends on the variable of x, i.e. y = y(x), then
the marginal effect of x on y is defined as: %
the elasticity of y respect to x is defined as: $ . %

The following equations (D~(2) describe the relationships between the dependent variable y and the
independent variable x. Find the marginal effect of x on y and the elasticity of y respect to x
respectively.
n 1%] = 1 DX cererrennennenannns )
.gn[%]:l-{-Zx—xZ .............................. @
where £n(-) is the logarithm operator.
6. Find the Taylor series for f(x) = log.(1 + x) about x=0.
7.  Evaluate the double integral
1 AV1-x? 3
f f (x* + y?)z dy dx
8. iﬁw%m*uﬁDwﬁﬁa&ﬁsm%w%
= D(x) = —0.1x% + 25;p = S(x) = 0.4x% — 3.5x + 10
E*D%ﬁ%%iﬁ%ﬁwx%%iﬁiﬁ%§°
(1R R BRAE
(2R E BT L EE R -

9. What is the minimum value of f(x,y) = x?y for {(x,y):x? + y? = 1}?

10. Using Taylor’s formula, a quadratic approximation of f(x,y) = cosx cosy at the origin can be found
to be

1

11. Au=x+y v=y—xZ K> Ekfgdxf:_x(x— y)2e®*¥)* dy o
£ Tie QYO A=Y (1-RE)

k2 fk}{—ai (1—x)n-1

13. ,H Vx(1 —vVx)*dx -

14. If the least amount of paper per volume is required to make a conical paper cup then the ratio - of
the he1ght h and the radius r of the rim is

15. Ifw= eX+Y sin(xy) and x =rcos 0,y =rsinf. Calculate—and—atr =1land O = E

RAFHEALD  FEEABATAAR
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16. Find the interval of convergence of the given power series.
v D2
X
!

- (2k)! 1
17. Use a power series to approximate fo e %" dx and discuss how to ensure an approximation error of]

less than 0.01.

18. Find the largest value of z on the surface 3x* + 2y% + z* + xz —yz = 1.
co co E

19. Bkaf” e dx=+m> K[ xze¥dx -

20. K

j‘” dx 3
g 8F = 1—6e™~*
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For problem 1-2, please use the following estz:mated demand function

Q=8-2P1+2P,-P3+I, where Q, is the quantity of good 1, P; is the own price, P, and P; are prices of other
goods, I=income.

1. What is the “own price elasticity” of demand, when P|=P,=P3=I=1 ?
A. -1

.-1.25

.-0.5

.-0.25

. None of the above .

moOow

2. Given P1=P,=P3=I=1, what is the “income elasticity”, E;?
A.0.125
B.1.5
C.1
D.-0.5
E. None of the above

For problem 3-4, please use the following information

Firm A mcreases price  Firm A doesn't increase price

FrmB A's profit=40 _ A's profit=26
increases price B's profit=20 B's profit=6
Firm B does not A's profit=8 A's profit=20
mcrease price B's profit=30 B's profit=10

There is a kinked demand problem with two firms. Each firm assumes that there is a 50% chance the
other firm will increase price.

3. What are the strategies that could maximize each firm’s expected profit?

A. Both firms will increase price

B. Both firms will not increase price

C. Firm A will crease price but Firm B will not
D. Firm B will crease price but Firm A will not
E. None of the above

4. Assume each firm manager is very risk averse and wants to avoid the worst situation. What are the
strategies that each firm may take?
A. Both firms will increase price
B. Both firms will not increase price
C. Firm A will crease price but Firm B will not
D. Firm B will crease price but Firm A will not
E. None of the above

5. What would be the consequence to the economic society if there exists an asset that had a correlation

HAFHSMT  FURTORFTAAE




SR E BIPE X3 2-E3 27 EX &L X -t 0|

#B L4 8FF [(MErmELTHLE] A% - 443004
MAHBERBERRE TRATU | ERGERGEEH) £7R%2R

of -1 with the market portfolio?
A. There would be less overall risk undertaken and less variation in the economic system.
B. There would be less overall risk undertaken but more variation in the economic system.
C. There would be more overall risk undertaken and more variation in the economic system.
D. There would be more overall risk undertaken but less variation in the economic system.
E. Nothing would change in overall risk taking or in the economic system.

6. You have a Cobb-Douglas Production Function: Q=AL°KP’. L is the amount of labor and K is the
amount of capital stock. Which of the following production situations could not possible occur?

decreasing returns to scale with diminishing returns to labor and increasing returns to capital

stock

increasing returns to scale with diminishing returns to labor and increasing returns to capital stock

decreasing returns to scale with diminishing returns to labor and diminishing returns to capital

stock ' '

increasing returns to scale with increasing returns to labor and increasing returns to capital stock

None of the above

>

mo aw

7. NSYSU is a monopoly company in Kaohsiung and has the following information.
Demand curve: P=2-0.3Q
Production function is Q=L, where Q is output and L is the amount of labor
To hire L unit of labor, NSYSU needs to pay a wage of 1+0.2L per unit of labor.
What is the profit maximizing output for NSYSU?

F SO PO N6 T

A
B.
€.
D.
E. None of the above

For problem 8-9, please use the following information

DOOK is a monopoly company in energy industry and has the following information.
Demand curve: P=120-Q
Marginal cost function: MC=Q

8. Assume the number, o, equals the output that maximizes the sum of supplier and consumer surplus,
while the number, B, equals the output that maximizes the profits. What is the combination of (a,f3)?

A. (20, 40)
B. (40, 60)
C. (40, 20)
D. (60, 40)
E. None of the above

9. What is the total deadweight loss if DOOK decides to pursue the profit maximizing output?
A. 100
B. 200
C. 300
D. 400
E. None of the above

10. An investor set up a floating hotel in the North Korean tourist industry. What is the advantage of a
HWAGHEAME FEUETOATEA
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11.

12.

.

14.

For problem 15-17, please use the following information

Consider the utility function u(y,, 7,)=alny, +blny, . The budget constraint is p,y, + p, 2, =m,

where p and p, are the prices for y, and y,, respectively.

15.

floating hotel over one built on land?
A. Avoids vertical integration

B. Reduces specific investment

C. Equivalent to a complete contract
D. Avoids inventory

E. None of the above

In an eBay auction for multiple units of an item, all winning bidders pay the price of the lowest
successful bid. This illustrates a

A. Discriminatory auction

B. Non-discriminatory auction

C. Winner’s curse

D. Reserve price

E. None of the above

Which of the following statement is associated with price discrimination mechanism?

A. Trade credit serves to facilitate the exchange of goods.

B. Holding cash will cause insufficient investment of agency problem between managers and
stockholders.

C. Trade credit can allow firms to reduce their precautionary cash.

D. Since trade credit exposes the seller to default risk, offering trade credit reduces the effective price
to low-quality borrowers.

E. None of the above

Which of the following statements is more likely related to moral hazard of using trade credit?

A. Firms not paying dividends are more likely to substitute bank credit with trade credit.

B. Firms that can obtain funds at low cost tend to extend credit to firms that are credit constrained.

C. Upstream firms utilize more trade credit since they are further up in the supply chain and are less
sensitive to the success of the final product.

D. Firms that offer trade credit to their customers tend to reduce liquidity reserve and earn excess

returns.
E. None of the above

If Tina’s utility function is X">Y"®, where X and Y are two goods. The price of X and Y are $1 and
$2, respectively. Currently, Tina has income of 100. What is the maximum utility that Tina can

achieve?

A 2572
B.20v2
C.10v/2
D.15v2

E. None of the above

What is the customer’s Marshallian demands for good 1?

HBHHEEME > FUETFERFTAA
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a m
A x=———
a+b p,
B xl:Lﬁ
a+b p,
C. xlzEﬁ
b p,
B, oy =E0
ap

16.

17.

For problem 18-20, please use the following information

An economy has the simple general equilibrium structure:
1) It exists for just two periods. The interest rate is zero and consumers do not care in which period they

2) There are only two produced goods. Production occurs only in period 1 and consumption only in

3) The produced quantities are sold by the monopoly to the consumers in the beginning of period two.

E. None of the above

What is the customer’s Marshallian demands for good 2?
B R= G
a+b p,
B. x= 2 7
a+bp,
C. x,= b
b p,
D. x= bm
a p,

E.  None of the above

What is the indirect utility functionv = (p,, p,,m)?
2 e B 2 By
a+b p, a+b p,
B. aln(® ™) +bm & ™y
b p, ap,
C. aln(Z)+hIn(2)

F2 P>

D. abIn(———""

a+b p+p,
E. None of the above

receive utility.

period 2. In period 1, labor is the only resource available and each of the N consumers has one unit of]
labor. All consumers are employed by one and the same monopoly which produces two goods from
the production functions y, =N®, y, =N°’; a,b>0. Note that this is a joint production process,
where the same labor hired once and is input into both production functions without splitting into two
parts.
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Each consumer has the same utility function u=x"x/, a+pf=1, 1>a,B>0. The consumer’s

income is her share of the monopoly’s profits from period 1 (these are equally distributed among the
consumers), plus wages received in period 1. With this income, each consumer decides her

consumption of the two goods at the beginning of period 2.

18. What is the customer’s Marshallian demand for good 1?

m
A. x(p,pym)=a—
b

m
B. x(p, py,m)=f—

1

C. x(py, pyom) = (@+ )=

P

m
D. x,(p, p,,m) =aff —

1
E. None of the above

19. What is the customer’s Marshallian demands for good 2?

m
A x,(p, py.m)=a—

2

m
B. xz(plapzam) :ﬁ_

P

C. x,(py, pyom) = (a + )=

P

om
D. x,(p,, py,m) = —

P
E. None of the above

20. What’s the indirect utility function of the consumer?
A v(p]’pz’m) - p;(a+l) ;(ﬂ#—l)m

P
B_ v(p]’pz’m)zplapfm

c. V(P> p2sm) = p;™’ pym

D. (P, p2sm) = p " py’m
E. None of the above

21. If Taiwan’s central bank purchase US$ in the foreign exchange market, what will not happen? (A)
NTS depreciates against U.S.$ (B) U.S.$ appreciates against NT$ (C) Taiwan’s interest rates fall (D)
Taiwan’s money supply falls

22. The recent Taiwan’s unemployment rate in percentage term (A) 1% =u<2% (B) 2% =u<3% (C)
3%=u<4% (D) 4% =u<5%

23. The rate of inflation usually reported is (A) the month-to-month percentage change (B) the quarter-
to-quarter percentage change (C) the percentage change of a monthly index from the same month a
year ago (D) the percentage change of a 6-month index from the previous year

24. In making international comparison of GDP, one way is to convert a country’s GDP to U.S. dollar
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term by the market exchange rate and the other by the exchange rate derived from PPP. From data
provided by IMF, the ranking of the 2018 GDP on PPP basis shows (A) U.S. > China > Japan (B)
China > U.S. > Japan (C) U.S. > Japan > China (D) China > Japan > U.S.

25. Which of the following counts toward the current GDP? (A) You find $10 on the sidewalk. (B) The
local police station buys new patrol cars (C) You fix your own sink (D) You purchase a used stereo
from a friend

26. Suppose the following equations compose the AD curve: Y=C+I1+G; C=140+0.8Yy Ya=Y —
T; I=200 - 500r; G=120; M/P=L; M/P=100; L =50+ 0.3Y -500r. As T increases by 100, what is
the horizontal distance the AD moves to the left? (A) 0=x<100 (B) 100 =x<200 (C) 200=x<300
(D) 300 =x<400 (E) 400=x

27. In a typical Keynesian AS-AD model, where the AD is constructed by a typical IS-LM, what happens
when autonomous consumption is reduced? (A) the AS curve shifts to the right (B) the AD curve
shifts to the right (C) the LM curve shifts to the right (D) the IS curve shifts to the right

28. Suppose there is a typical IS-LM curve:

Y=C+I+G, C=C,+pY, I=1,—pr M/P=L,+¢Y — 1o, B,p,¢,4>0. Which of the
following will enhance the effect of a money supply increase on income? (A) lower # (B) lower ¢
(C) larger 1 (D) lower p
29. When a central bank targets interest rates, it adopts a policy to adjust to accommodate
. (A) money supply; money demand shocks (B) money supply; tax changes (C) money
demand; money supply shocks (D) interest rates; money supply

30. The demand for cash is negatively associated with (A) income (B) price level (C) inflation
expectations (D) wealth (E) exchange rate

31. Which of the following statements is not true? (A) Menu costs lead to price stickiness. (B) In the
classical dichotomy, all prices are flexible (C) Imperfect competition may lead to price inflexibility
(D) In the classical dichotomy, a permanent increase in money supply growth leads to a
corresponding increase in price but not inflation

32. The chairman of the central bank in 1995 believes that potential output follows the dotted line after
1993, but in actuality, it follows the line denoted “True potential output.” The current state of the
economy is given by the curve between the two. Given the information in the figure, the chairman

, because he believes the economy is in a , but his decision instead .(A)
lower interest rates; recession; accelerates inflation (B) raise interest rates; boom; accelerates a
recession (C) keep interest rates the same; boom; accelerates inflation (D) lower interest rates; boom;
increases unemployment

oUTPUT Triie

potential #
ouy
e

i 5 P
~” Perceived
potential
output

1993 1995 TiMz

33. In national income accounting, government spending does not include: (A) transfer payments (B)
building highways (C) spending on education (D) spending on defense
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34. The life-cycle hypothesis suggests that people base their consumption on their: (A) current incomes

35

36.

37,

38.

a9,

40.

(B) average lifetime incomes (C) temporary incomes (D) future incomes (E) past incomes
The labor demand curve slopes downward because of: (A) inflexible wages (B) rising wages going
along with rising labor demand (C) the diminishing marginal product of labor (D) rising prices
Sometimes when discussing inflation, we use a measure of inflation that excludes from its
calculation because these prices tend to be volatile. (A) food and housing prices (B) food and energy
prices (C) commodity and housing prices (D) clothing and transportation prices
Here are some balance of payments data:
Exports of goods, 100; Imports of goods, 125; Service exports, 90; Service imports, 80
Income receipts from abroad, 110; Income payments to foreigners, 150
Increase in home country’s ownership of assets abroad, 160
Increase in foreign ownership of assets in home country, 200
The balance on financial account is (A) deficits of 40 (B) surpluses of 40 (C) deficits of 80 (D)
surpluses of 80

Consider the following economy:

AD: ¥ =450+ 10(M/P)

SRAS: Y=Y*+P-P°

Okun’s law (Y — Y*)/T* = -2(u — u¥)

Full-employment output ¥*= 500

Natural unemployment rate #* = 0.06

The money supply M = 1,000 and the adaptive expected price level P¢ = 50.

If the current price level is 100, what is the unemployment rate? (A) 0=u < 0.005 (B) 0.005=u <

0.01 (C)0.01=u<0.02 (D) 0.02=<u<0.03 (E) 0.03=u

Because of automatic stabilizers, various components of the government’s budget depend on the
level of output, ¥. The following are the main components of that budget: Tax revenues =1000 +
0.1Y; Transfers = 800 - 0.05Y; Government purchases = 1600 + 0.1(Y* —Y); Interest payments 100;
Full-employment output Y* = 10,000; In a recession, output = 8,000. Find the difference between the
full-employment fiscal balance and the fiscal balance in recession, D. (A) 0 =D<100 (B)

100 =D<200 (C) 200=D<300 (D) 300=D<400 (E) 400=<D
A country can operate a fixed exchange rate and practice independent monetary policy if and only if
(A) it eliminates all tariffs (B) it targets a zero inflation rate (C) it imposes wage and price controls
(D) it restricts inflows and outflows of financial capital (E) the central bank agrees to monetarize all
fiscal deficits
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B4 BEA (A28 5H25)

1.( ) A firm has a profit margin of 5%, a return on assets of 9%, and an equity multiplier of 1.5. What
is the return on equity? (A) 6.7% (B) 8.4% (C) 11.2% (D) 13.5% (E) 19.6%

2. ( ) An increase in which one of the following accounts increases a firm’s current ratio without
affecting its quick ratio? (A) accounts payable (B) cash (C) inventory (D) accounts receivable (E) fixed

assets

3.( ) You are comparing two annuities which offer monthly payments for ten years. Both annuities are
identical with the exception of the payment dates. Annuity A pays on the first of each month while
annuity B pays on the last day of each month. Which one of the following statements is correct
concerning these two annuities?

(A) Both annuities are of equal value today.

(B) Annuity B is an annuity due.

(C) Annuity A has a higher future value than annuity B.

(D) Annuity B has a higher present value than annuity A.

(E) Both annuities have the same future value as of ten years from today.

4.( ) The market price of a bond is equal to the present value of the:
(A) face value minus the present value of the annuity payments.
(B) face value plus the present value of the annuity payments. .
(C) annuity payments plus the future value of the face amount.
(D) face value plus the future value of the annuity payments.

(E) annuity payments minus the face value of the bond.

5.( ) Which of the following statements concerning bond features is (are) correct?
I.  Bondholders generally have voting power in a corporation.
II. Bond interest is tax-deductible as a business expense.
III. The repayment of the bond principal is tax-deductible.
IV. Failure to pay either the interest payments or the bond principle as agreed can cause a
firm to go into bankruptcy.
(A) II only
(B) IandII only
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(C) I and IV only
(D) II, III, and I'V only
(E) IIand IV only

6. () What is the value of a 9-month call with a strike price of $45 given the Black-Scholes Option
Pricing Model and the following information? Stock price $48; Exercise price $45; Time to expiration
0.75; Risk-free rate 5%; N(di) = 0.718891; N(dy) = 0.641713 ; 2.71828%%x0.73=(. 9632. (A) $6.69
(B) $4.86 (C) $5.96 (D) $8.81 (E) $2.03

7. ( ) Assuming the CAPM or one-factor model holds, what is the cost of equity for a firm if the firm's
equity has a beta of 1.2, the risk-free rate of return is 2%, the expected return on the market is 9%, and

the return to the company's debt is 7%? (A)10.2% (B) 10.4% (C) 10.08% (D) 10.6% (E) 10.8%

8. ( ) The constant dividend growth model:
I.  assumes that dividends increase at a constant rate forever.
II.  can be used to compute a stock price at any point in time.
III. states that the market price of a stock is only affected by the amount of the dividend.
IV. considers capital gains but ignores the dividend yield.
(A) Tonly
(B) Il only
-(C) IIand IV only
(D) Iand II only
(E) L II, and IIT only

9. ( ) The owner of preferred stock:

(A) has the right to declare the company bankrupt whenever there are insufficient funds to
pay dividends to the common shareholders.

(B) has the right to veto the outcome of an election held by the common shareholders.

(C) is entitled to a distribution of income prior to the common shareholders.

(D) has the right to collect payment on any unpaid dividends as long as the stock is
non-cumulative preferred.

(E) receives tax-free dividends if he is an individual and owns more than 20% of

the outstanding preferred shares.
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10. ( ) If a project has a net present value equal to zero, then:
I. the present value of the cash inflows exceeds the initial cost of the project.
II. the project produces a rate of return that just equals the rate required to accept the project.
III. the project is expected to produce only the minimally required cash inflows. '
IV. any delay in receiving the projected cash inflows will cause the project to have a negative net
present value.
(A) II and III only
(B) II and IV only
(C) LII, and IV only
(D) II, III, and IV only
(E) 1,11, and IIT only

11. () You are trying to determine whether to accept project A or project B. These projects are
mutually exclusive. As part of your analysis, you should compute the incremental IRR by
determining:

(A) the discount rate that equates the discounted payback periods for each project.

(B) the net present value of each project using the internal rate of return as the discount rate.
(C) the internal rate of return for the cash flows of each project.

(D) the internal rate of return for the differences in the cash flows of the two projects

(E) the discount rate that makes the net present value of each project equal to 1.

12. () One purpose of identifying all of the incremental cash flows related to a proposed

project is to:

(A) eliminate any cost which has previously been incurred so that it can be omitted from
the analysis of the project.

(B) isolate the total sunk costs so they can be evaluated to determine if the project will
add value to the firm. |

(C) identify any and all changes in the cash flows of the firm for the past year so they can
be included in the analysis.

(D) include both the proposed and the current operations of a firm in the analysis of the
project.

(E) make each project appear as profitable as possible for the firm.
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13. () Changes in the net working capital:
(A) can affect the cash flows of a project every year of the project’s life.
(B) only affect the initial cash flows of a project.
(C) are included in project analysis only if they represent cash outflows.
(D) are generally excluded from project analysis due to their irrelevance to the total
project.
(E) affect the initial and the final cash flows of a project but not the cash flows of the

middle years.

14. ( ) Which of the following statements are correct concerning the accounting break-even

point?

I.  The net income is equal to zero at the accounting break-even point.

II.  The net present value is equal to zero at the accounting break-even point.

ITII. The quantity sold at the accounting break-even point is equal to the total fixed costs
plus depreciation divided by the contribution margin.

IV. The quantity sold at the accounting break-even point is equal to the total fixed costs
divided by the contribution margin.

(A) TandIII only

(B) TandIV only

(C) IIand III only

(D) IIand IV only

(E) LII, and IV only

15. () Which one of the following is a correct ranking of securities based on their volatility over the
period of 1926 to 20097 Rank from highest to lowest.
(A) small company stocks, long-term corporate bonds, large company stocks
(B) large company stocks, U.S. Treasury bills, long-term government bonds
(C) small company stocks, long-term government bonds, long-term corporate bonds
(D) long-term corporate bonds, large company stocks, U.S. Treasury bills

(E) small company stocks, large company stocks, long-term government bonds

16. () Which one of the following is a correct statement concerning risk premium?

(A) The greater the volatility of returns, the greater the risk premium.
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(B) The lower the volatility of returns, the greater the risk premium.
(C) The lower the average rate of return, the greater the risk premium.
(D) The risk premium is not correlated to the average rate of return.

(E) The risk premium is not affected by the volatility of returns.

17. () Estimates using the arithmetic average will probably tend to _ values over the long-term
while estimates using the geometric average will probably tendto  values over the short-term.
(A) overestimate; overestimate

(B) overestimate; underestimate

(C) underestimate; overestimate

(D) underestimate; underestimate

(E) none of the above are correct

18. () You are considering purchasing stock S. This stock has an expected return of 8% if the economy
booms and 3% if the economy goes into a recessionary period. The overall expected rate of return
on this stock will:

(A) increase as the probability of a boom economy increases.

(B) increase as the probability of a recession increases.

(C) vary inversely with the growth of the economy.

(D) be equal to 75% of 8% if there is a 75% chance of a boom economy.

(E) be equal to one-half of 8% if there is a 50% chance of an economic boom.

19. () Which one of the following is an example of a nondiversifiable risk?
(A) apoorly managed firm suddenly goes out of business due to lack of sales
(B) a well managed firm reduces its work force and automates several jobs
(C) akey employee of a firm suddenly resigns and accepts employment with a key competitor
(D) a well respected chairman of the Federal Reserve suddenly resigns

(E) awell respected president of a firm suddenly resigns

20. () The risk premium for an individual security is computed by:
(A) adding the risk-free rate to the security’s expected return.
(B) multiplying the security’s beta by the risk-free rate of return.
(C) multiplying the security’s beta by the market risk premium.
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(D) dividing the market risk premium by the beta of the security.
(E) dividing the market risk premium by the quantity (1 — beta).

21.( ) In an efficient market, the price of a security will:
(A) always rise immediately upon the release of new information with no further price adjustments
related to that information.
(B) react to new information over a two-day period after which time no further price adjustments
related to that information will occur.
(C) rise sharply when new information 1s first released and then decline to a new stable level by the
following day.
(D) react immediately to new information with no further price adjustments related to that
information.
(E) be slow to react for the first few hours after new information is released allowing time for that

information to be reviewed and analyzed.

22.( ) MM Proposition I without taxes is used to illustrate:
(A) the value of an unlevered firm equals that of a levered firm.
(B) that one capital structure is as good as another.
(C) leverage does not affect the value of the firm.
(D) capital structure changes have no effect on stockholder's welfare.
(E) All of the above.

23. () Bryan invested in Bryco, Inc. stock when the firm was financed solely with equity. The firm is

now utilizing debt in its capital structure. To unlever his position, Bryan needs to:

(A) borrow some money and purchase additional shares of Bryco stock.

(B) sell some shares of Bryco stock and loan it out such that he creates a personal debt-equity
ratio equal to that of the firm.

(C) sell some shares of Bryco stock and hold the proceeds in cash.

(D) maintain his current position as the debt of the firm did not affect his personal leverage
position.

(E) create a personal debt-equity ratio that is equal to exactly 50% of the debt-equity ratio of
the firm.
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24.( ) MM Proposition 11 is the proposition that:
(A) supports the argument that the size of the pie does not depend on how the pie is sliced.
(B) supports the argurhent that the capital structure of a firm is irrelevant to the value of
~ the firm.
(C) the cost of equity depends on the return on debt, the debt-equity ratio and the tax rate.
(D) the cost of equity is equivalent to the required return on the total assets of a firm.

(E) afirm’s cost of equity capital is a positive linear function of the firm’s capital structure.

25.( ) The MM theory with taxes implies that firms should issue maximum debt. In practice, this is not
true because:
(A) debt is more risky than equity.
(B) bankruptey is a disadvantage to debt.
(C) firms will incur large agency costs of short term debt by issuing long term debt.
(D) Both A and B.
(E) Both B and C.
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